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GCSE Mathematics
Practice Tests: Set 4

Paper 1F (Non-calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser.

Instructions

Use black ink or ball-point pen.
Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators must not be used.
e« Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
e Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Try to answer every question.
s Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

Simplify  3f-2f+f

Llots -2lots +ljo+ = 21t

(Total 1 mark)

(a) Write down the value of the 6 in the number 26 780 Place Volwa

(b) Write the number 6_7_',49 to the nearest hundred.

Yool S Qo

(c) Write 0.0763 correct to one significant figure.

€ ot § P

(Total 3 marks)
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Here is part of a railway timetable.

7
New Street Co13 ) 1030 | 1033
Marston Green 10 26 l 10 41
Birmingham International 10 29 10 39 10 45
Hampton-in-Arden 1032 l 10 48
Tile Hill 10 40 )3 10 55
Coventry (1047 1049 | 1100
N——

(a) Work out how long the 10 13 train takes to go from New Street to Coventry.
0w uF - 10413 = SHmuwutes

........................ %L'I" minutes
1)

Harry is at Birmingham International.
He needs to be at Tile Hill by 11 00.

(b) What time is the latest train from Birmingham International he can catch?

(Total 2 marks)
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4.  Liz asks 20 people to name the flavour of chocolate they like best.

Here are her results.

_milk __plain orangé  plain” _milk
coffee white itk _mitk orange
white coffee  _plam™ itk Jnitk

pilfk J),Laa'-n coffce ;u'l-k' orange

(a) Complete the frequency table.

plain vEud b
milk per=ipl €
coffee W 3
orange (R 2
white A Z

(2

(b) On the grid, draw a suitable chart or diagram to show Liz’s results. [ e quf\/\

Y

i

8
rr
&
S_
Y
3
Z

i
{

|

£ % §’ ®

Flavow of Choco 642 ™ (rotal 5 marks)

e

Plaw’
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Susan and Joe are going on holiday.
They can take two cases onto the plane free of charge if the total weight
of the two cases is no more than 40 kg.

Susan’s case has a weight of 22.8 kg.
Joe’s case has a weight of 19.5 kg.

(a) Can they take their two cases onto the plane free of charge?

22. ¥kq
A\ 19. Seg

w2 .3
[ 6

Ceoncduso | No smee L+2.?>r:j>bk0\6

(2)

Susan and Joe want to be at the airport terminal at 14 30.

Tt will take 1 hour and 20 minutes to drive from home to the airport.
It will then take a total of 30 minutes to park the car and go into the airport terminal.

(b) What is the latest time they can leave home?
WorkbAckueeos. ., | 1% 30 — hews 20 = 13110

(2910 - DOmiwkes —= 1240

(Total 5 marks)
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6.  Sarah wants to buy some fruit.

She wants to buy

3 oranges at 30p each

and % kg apples at £1.20 per kg.

The only money Sarah has is one 50p coin and six 20p coins.

She pays for the fruit.

Work out how much money Sarah has left.
You must show all your working.

Orwzﬂas Cagt

Ppples Ccost
Tot=| ces+t-

Totedd MONOM®

_—

2 x 20p = 0%

1, Q0 = 60
2_>ci—\:20 &eop

qOp +60p = é\- 50

1

SOp + (67(2.01>)
sop + £1-20 = £1.70

2130 - #1.50 = #0.20

(Total 5 marks)
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7. Tanaka says ‘When you multiply an odd number and an even number together, you will
always get an odd number’.

Show that Tanaka is wrong.

odd enan enen

(Total 2 marks)
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(a) Write down the mathematical name for the type of angle marked x.

(b) (i) Work out the size of the angle marked y. i % &
% . Lura. =\ IYO -126 =
I g‘o f—‘\-neu_a cyLShfw%\cr O U

26 o . =2

(i1) Give a reason for your answer.

(c) Complete each statement correctly.

(i) The size of each angle of a rectangle is qo ............. ¢ ==

(i1) The size of each angle of an equilateral triangle is ............... 325 =

(2)
(Total 5 marks)
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(a) Find two factors of 36 with a difference of 5

& £ .
3 2 Choeo 2 +uus wociA a_cb‘Qéﬂ-'"‘-‘l-*F\r
q‘
Y
U (A
3« | 36 |t
.................. ﬂ\ e Bnd Ll-
(2)
The Lowest Common Multiple (LCM) of three numbers is 30 v
Two of the numbers are 2 and 5 Louwast™ Ceramon M U.M\Pli.
(b) What could be the third number?
o 3
5 /\6 _
s 2
30 30 1
| @

(Total 4 marks)
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10. Debbie, Salma and Wendy did a Maths test.
The total for the test was 40 marks.

Debbie got 16 out of 40
Salma got 35% of the 40 marks.

Wendy got % of the 40 marks.

Who got the highest mark?
You must show all your working.

Dexvie |6 moskS

A3S% A KO .. 107%=Y
'DOV‘;:.IZ
S%:Z @

DA\ e~

= {Lemanre S
o dears 2 eALO... L5
% ¥
2 = IS mones
(Total 4 marks)
Comctoason Deore. qe e hearest™ morde..
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2D Sreped and Caordunedes

(b) Find the coordinates of point D so that ABCD is a parallelogram—gp 2 SeFs f:r"P' 2 o, PaJnlLQJ

FE is another point on the grid.
The midpoint of 4E has coordinates (2, 6)

(¢) Find the coordinates of point £.

F—W\'\ A'tbm:lr[w

Sides |

LMk E = ldgw
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12. There are 11 counters in a bag.
6 of these counters are green.
5 of these counters are red.

Some more red counters are put into the bag.

A counter is then taken at random from the bag.

The probability that the counter is red is %

How many red counters were put into the bag?

¥ (Q.a,d) = Z?E- T f‘____ S Need ‘ib(:mc:l o= Mmb
Conters cddad o malke A red s
wihs IS contes +otal -

(Total 3 marks)
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13. Here is a sequence of patterns made from sticks.

(a) Complete the table to show the number of sticks in each pattern.

N\ _/ \N\//
/ N\ VAN

Pattern number 1 Pattern number 2

NAVAVAV ANAVAVAVAVA
VAVAVANR VAVAVAN

=4

g S TR

Pattern number 3 Pattern number 4
Pattern number 1 2 3 4 5 é +
Number of sticks | 7 12 17 2 | .9 | 3 3T

+S t—?’ S &5 R S (S

(b) Find the number of sticks in Pattern number 8

2 S

Ali has 60 sticks.
She wants to use as many sticks as possible to make a Pattern number.

(d) What is the largest Pattern number she can make?

Portern B A e Ly 1z
4 Y+ S ST 6L

@
- (Total 6 marks)
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z |-2|-ofi]s
14.  On the grid draw the graph of x + y =4 for values of x from -2 to 5

3 |6 Isld3[2

2 3 4\5 L:

| . ‘ N

L1, | | oC+y = U
3

(Total 3 marks)
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15. Tomis going to buy 25 plants to make a hedge.
Here is information about the cost of buying the plants.

Kirsty’s Plants Hedge World
£2.39 each Pack of 25

£52.50 plus VAT at 20%

\v

Tom wants to buy the 25 plants as cheaply as possible.

Should Tom buy the plants from Kirsty’s Plants or from Hedge World?
You must show all your working.

t N‘S‘\-‘:SS P\Cf\\""s Hedoe \Wartal
£2.29 x 2F% (©0% = £€2.50
(o) E——_ () \©7. = L.

(x2) 20/. —Z10-SO
229
1§ L Cost = ES1-So+ Elo.co
Liias
£wfo o
/<S9.3s (“aeo)

4 34

= #£63.00

= 489-¥ S

B Tom Sould lo\t\j ‘FYUV\ \(..:rs\"ji ?\ws L@ ,;J:Sol-'f:r <i63-CD.

(Total 5 marks)
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2om

Diagram NOYI
accumtely drawn

1
1 @ 2em
) Tcm

0_
50(3\ The diagram shows the cross-section of a solid prism.
&f The length of the prism is 2 m.= QO0 ey
r/Cf)&W The prism is made from metal,

(/S?‘ The density of the metal is 8 grams per cm®.

Work out the mass of the prism.

M= Ox\V

\/‘r—CSHKLuBJrh

C8&B . - CSH’:M®+W @)
:(ﬁrcm Klm) +( Sam< 2em)

"L A
= ([Yem = \Oem

:'LLJeCML
\/__Cg,ﬂ.xum%kk " :’Z_chcm?‘xQDOm
*:Lt-ZCJC)CJ.n/\3
M=z DxV M :‘-l—mu;%ﬁ( KSICMB LF&’O% X
Y
M = 2ZU00 4 sk

AR400y

(Total 5 marks)
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2. There are 50 counters in a bag.

Rolatve Fregquancy

The counters are blue or yellow or black or white.
A counter is taken at random from the bag.

The table shows each of the probabilities that the counter will be blue or black or white.

Colour blue yellow

black white

Probability 04 |\

0.3 0.16

Work out the number of yellow counters in the bag,

S*‘“‘U’-QM‘PF&B{:)&\HG.—q p(a,um\q —|—Ou-06.73-0 A6

Relapwe W‘jﬁj ol

= 0.3 - ®:16
= o\
—
LY
wSo = x5S g F
= - +O

(Total 4 marks)
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18. Work out an estimate for the value of

6.8x191
0.051
G.T =71+ C.EX G o 2 o
VeI A 200 | e
C.o0f8
G.6%1 o008
— = 1400 = \Looee.
023099, o -o8 S S
S ) LOOCO (Total 3 marks) ~———

19. The normal price of a television is reduced by 30% in a sale.
Poverse ?-e;@n.*—es eg

The sale price of the television is £350

Work out the normal price of the television.

DY =30 = T,
é'gs-o —_— ?OB/Q
(=%} | £50 = 1O%
(<o) | £soe — 0%,
—_—
£SO

(Total 3 marks)
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20.

ABCDE and AFGCH are regular pentagons.
The two pentagons are the same size.

Work out the size of angle EAH.
You must show how you got your answer.

PBC =~ AHC= 108° Sum of QR angled W mp-aiaﬂm = SUO, SWiS=f
&RH - {?é\ﬂ -_—_dﬁ_: %’lmg.—tcﬂu A-n%‘-ﬂ-b ;_y\: oo Wl‘ \CLHM ('HECH) = '}@b
2
=~ 72°

xf’ _}ngo = LOB': [Lnd = "rﬁh VS O N\:}Q’Y\N Of@kl. 0‘%‘ o MU‘-
o 3T = 108
. (-32°) g.!

I— -: %6 ........................................... !.-D
(Total 4 marks)
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12

Harry travels from Appleton to Brockley at an average speed of 50 mph.
He then travels from Brockley to Cantham at an average speed of 70 mph.

Harry takes a total time of 5 hours to travel from Appleton to Cantham.
The distance from Brockley to Cantham is 210 miles.

Calculate Harry’s average speed for the total distance travelled from Appleton to Cantham.

Soumey) Souvey 2

(=trecl
GQ’_'JED (B"':‘C) Cpf-;JC..)
S = SOwpl, S = FOmpn S- 277 ®
D= ICDm \‘Lc_.f@ D= 210miles O > zomia@
T= 2 hous @ N Shmﬁ@ T Dhovs

6 D= oxT= SOmp<2hous = I00mie

@)  16Oma + 2Omiles =3Omiles

& g=FB = o'
T S hows

= 6ALmpn

(Total 4 marks)
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